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Basic operation on currents (and forms)

Product of currents
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of surfaces)

let T - epe be a k- current with finite

bass in Ird
,
let F- Epi be a E -current

. . . . wi RI
.

Then Tx T is the Lktk) - current with

ferrite was wi Rd * ROT = 112040T defined

by
Txt is feat) flux F)
-

where product measure

EA E (x
,
I)

,

i = EG) n ECT)
in

Rdx IRI

K- vectors in Rd are identified levitt

K- vectors in Rdx ROT starting from
the canonical iedeutif of Rd with Rdx lol

.



FER - IRI [ TXTRemains ^ we

b) Example tuffs °%→÷#fat
-

¥1122
,
IRD

2) Note that txt , lo das nd =O

unless i E Icd
,

k) and I C- SGT,K).

3) IM (txt ) = IM CTI . MCT)
because leat I = lol . 151

if re
,
E are mudtovectovs in RN

supported on orthogonal sup spaces
( if It is either the Euclidean

worm or the mess worm) .

4) You can define Txt also
of T and F ane general
currents



5) If T - EE , e, in] , T -- CEE, Tu]
are rectifiable

,
then Txt is also

rectifiable
,
and

Tx F is [EXE, nearer , Mim ]
-

wit
. simple

Tktk)-vector !
key point is that

(7th LE) xCHILE ) = It
""
L (ExE)

in particular
HUE) . HICE) = HethCEXE)

which holds because E
,
E ane

rectifiable ( not in general)

Propositions If T , T are normal then

Txt is normal and
'

04×7) = OT x F + c- Dk .Tx OT

( Leibniz rule , not so easy to prove)



KEIR - IRI [ TXT oriented by eat^ E

• t
NI

et. ;&m÷pftp.t T
→

¥1122
,
IRD

Ray If w
, , we are h

.
-

,
ha- forms

of class C ' wi RN then

d (w ,
n wa) - dw , Awa + C-Dh ' Windy

(easy to prove)

Pull - back of forms , push- forward of currents
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